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ENGLISH

Directions for Q1 to Q17 : Fill in the blanks. Q8. | ------- everyday at 5 O’Clock.
(A) Got up

A it with my ---— eyes. i
Q1. | saw it with my Y (B) Getting up

(A) Mine \MGetup
(B) Personal (D) Gets up
(C) Our _
o7 own s || Q9. Here —---—- the bus!
) o ) (A) Come |
Q2. A small leak may —-—-— a great ship. (B) Has come
(A) Sink . - (C) Is coming Ao
\J})’ﬁrown BT Comes
(C) Float L
(D) Deviate Q10. |- - him for a long time.
(A) Know "
Q3. What a —-— of work is man! ' - (B) kinew
Great A | (C) Have known
(B) Sensible | I_ - JZfNone of these
(C) Piece o ' Sty 1]
(D) Joy s Q11. | -—---- my exercise when Ram came to see
bt me.
Q4.He is -——-- than | expected. (A) Did
Vm“"ter (B) Have dbne a0l a3 AIC
(B) Latter (C) Have been doing
(C) Latest (TS \m Had doia
(D) None of these RN < G ot I
R LT Q12. Sonal’s score is the -—--—- in the school.
Q5. The Mouse is jumping --—--------- the table. (A) High ' 31 (3}
On . (B) Higher |
(B) Upon ; A Highest rieant
(C) At : (D) None of these
(D) None of these
g Q13. | wish | ------- her before we met.
Qs. The}river flows ---—-- the bridge. (A) Know
\/{) Under _ ' (B) Have known

EB; Within 1571 (C) Known > .- g s 550 101 S

C) at " :
,Ldii(new A9\ ba'W i) Yo

(D) None of these .

Q14. My father always doubts my actions; he is -

Q7. She is -——-—-—than her sister. ---- in nature.
(A)Polite ‘ (A) Strict
(B) Politest V(Bf Disciplined
AC) Potiter ' (C) Sceptic
(D) None of these - (D) Credible

(3 SET-B/CLASS-VI/2023-24



Q15. The sarj
(A) Price

AB) Cost
(C) Ranges s
(D) None of these

==-=-—-——- me five thousand rupees.

Q16. He never visits any religious place and he

doesn’t believe in worshipping God. He will be
called--------- “

AT Atheist
(B) God fearing
(C) Theist
(D) None of these

Q17. He always fights with everyone. i:le is--=-—in
nature.

(A) Lovable
(B) Cordial

\Kf Cantankerous
(D) None of these

Q18. Feminine of Duke —
(A) Queen
(B) Mistress
J Duchess

(D) None of the above

Q19. Masculine of Poetess —
(A) Temptress
\m Poet
(C) Writer
(D) None of the above

Directions for Q20 to Q22 : Select the Meaning
of the given Word/Phrase.
Q20. Dbwarf -

(A) Sad

(B) Brave person

(C) Well-built person

J&1 Short in Height

Q21. Insomnia —

(A] Lazy

(B) Suffering from headache

AC) Sleeplessness
(D) Inconsistent

(4)

Q22. “To be on-doud\hine'f =
(A) To fly in the air
Extremely happy
(C) In a state of being uneasy
(D) None of these

Directions for Q23 to Q27 : Read the passage
carefully and answer the following questions.

The Giraffe is the tallest of all living land
animals. A male can go up to 18 feet and a female
up to 15 feet. Such height enables them to
escape the competition for ground level grass
that exists among other leaf-eaters. It also gives
him a long range of vision. He takes the warning
of the approaching enemy early. Giraffes eat a
variety of leaves, but acacia 1gaves are their -
favourite diet. In spring, when many trees are not
having leaf, they spend 80 percent of the day
eating. In summer, when trees are in full leaf, -
they need only 15 percent. The rest of the time is
spent in resting and quarrelling. A Giraffe s long
neck is made up like that of man and most other
mammals, of only seven vertebrae. The bones are
attached to one another with ball and socket
joints. These make the neck flexible. It can run at
50 km per hour. Rising from a lying position is a
problem for such a large animal. So, it usually
keeps standing even while it sleeps. To reach
water with such a long neck and legs, a giraffe
spreads its front legs wide apart. Then it lowers

its neck to drink. This awkward position makes it
easy for the lion to attack it.

Q23. A male giraffe is taller than female one by
up to.

(A) 4 feet
(B) 5 feet
(C) 2 feet

AD) 3 feet

Q24. Giraffes eat all variety of |eaves but
leaves are their favourite djet.
(A) Banyan leaves
(B) Manga leaves
(C) Banana lgaxes
~J27 None of these
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Q25. Giraffes spend 80 percent of the day eating

during —-—-- season.
(A) Rainy season
(B) Summer season
(C) Winter season

ﬂ Spring season

Q26. If a lion has to catch a giraffe, then it has to
(A) More than 70 km/hr. b
More than 50 km/ hr
(C) More than 60 km/ hr
(D) All of these

\.

run

Q27. The meaning of the word “AWKWARD"”
(A) fﬂatural 1 vy
(B) Delicate
€ Not normal

(D) None of these

Directions for Q28 to Q32 : Select the Opposite
of the given Word.
Q28. Conflict —
\/(ﬁ Peacseful
(B) Striking
(C) Deadly
(D) Harmonious

Q29. Extravagant —
(A) Sensj le
(B) Caréful

J¢) Economical

(D) Balanced

Q30. Diligent -
(A) Unsxilled
AB) Lazy
(C) Careless
(D) Idle

Q31. Laudable -
(A) Impolite
) Condemnable
(C) Unpleasant
(D) Repulsive

(5)

Q32. Generous —
(A) Btingy
uncharitable
(C) Selfish
(D) Ignoble

Directions for Q33 to Q37 : Select the Synonym
of the given Word. : BT
Q33. Forty winks — :

(A) A person beyond 40 years of age

(B) A studious person 17

(C) Problems of life '

v(ﬂfA s_hort nap

Q34. Remedial -
(A) Punifive
(B) Stringent

\)Cf Corrective

(D) Strict

Q35. Exaggerate —
(A) Bluff
BT Overstate Y5 i
(C) Exwlain Imip {
(D) Underestimate :

Q36. Penalize -
(A) Persecute
B) Punish
(C) Torture
(D) Ruin

Q37. Absurd -
JAT Senseless
(B) Clean
(C) Abrupt
(D) Candid

Directions for Q38 to Q41 : Find the Correct

Spelling.
Q38.
JAT Albert Einstein
(B) Albert Einstine
(C) Albert Einstin

(D) Albert Enstin
SET-B/CLASS-VI/2023-24



Q39. . .
(A) Abubgont )
(B) Abandent s
(C) Abundent :
~0) Abundant

Q40. ) EED ok pricis
(A) Stubern oW noulg
(B) Stubbarn M5

€] Stubborn

(D) Stubbern

Q41. P
\,Hf Bureau
(B) Buroue . _
(C) Bureu T
(D) Buroeu Sy (8

Directions for Q42 to Q50 : Select the One Word
Substitute.

Q42. One who is very meticulous in his approach:
(A) Reasonable
(B) Simple
(C) Fair

\,[Bf Careful

Q43. Spoken or done without preparation:
\jA‘r Extempore
(B) Carelessly
(C) With less preparation
(D) None of these

Q44. Certain to happen :
(A) Luck
Inevitahie
(C) Incredible
(D) None of these

Q45. Safe to drink .
Potable
(B) Portable
(C) Presentable
(D) None of these

(6)

Q46. A form of Government in which poweris
held by the nobility. g

(A) Anateny

(B) Autocracy

(C) Autonomy

\M Aristocracy

Q47. Life history written by someone else.
\/ﬂ) Biography -
(B) Autobiography
(C) Memoirs
(D) Article

Q48. A hard nut to crack.
\M A person who is very difficult to deal,
(B) Lovable person w2
(C) To deal in an uneasy manner®
(D) None of these

Q49. Kill two birds with one stone.
- (A) Killing birds with stone
BT To succeed in achieving two things in
single action .
(C) To be more violent
(D) All of these

Q50. Sentence whose meaning is unclear.
(A) Alarming

\Aﬂf Ambiguous

(C) Unclear ~iy
(D) None of these )
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GENERAL KNOWLEDGE
51. R fr gad wdradh 2 -

51. Longest river of the world is— .
(A) Ganga
(8) Rhine
e Nile

(D) Brahmaputra

52. Duckworth-Lewis-Stern method is related to

which sport?
(A) Hockey
(B) Football
(C) Tennis

& Cricket

53. Which country won the Asia Cup 2022 ?
(A) India
(B) Pakistan

J2f Srilanka
(D) Bangladesh

54, Which planet has the fastest revolution
around the Sun ?
(A) Urenus
JB] Mercury
(C) Neptune
(D) Jupiter

55. Who is the founder of Facebook ?
(A) Evan Williams
Mark Zuckerberg
(C) Evan Sharp
(D) Paul Allen

56. How many spokes are there on the wheel of
Indian National Flag ?
(A) 25
] 24
(C) 26
(D) 27

57. How many times India hosted Olympics ?
(A) 1
BT 2
(C)3
(D) Never

58. Animal who can live longest without water?
Camel .
(B) Kangaroo rat '
(C) Deer
(D) Bee

(7)

52.

53.

55.

56.

57.

58.

(A) 7T
(B) m <
©)F=

(D) s

Twad-aia-we Rl fra Qe A wafm & 2
(A) Sl

(B) Fetet

(C) ¢F=

(D) frdke

fra I TR w2022 T2
(A) ¥TE .
(B) ifere

(C) HiciaHt

(D) SRR

o g s 3 o Bt 2

(A) T4
(B) T4

(C) Fu=gd

(D) et

eTeh oh EETI € 7
(A) T fafera=a

(B) WTh [
(C) T T4

(D) 9iet G&H

T T e 3 <R i fepert ftferat @ & 2
(A) 25
(B) 24
(©) 26
(D) 27

T 3 et I siteifes & S i 2
(A)1

(B) 2

©)3

D ELIEG

<t 3 f g e @ A Sfifea T arer St
(A)Fe
(B) &S ST
(c) feor
(D) wFFet
SET-B/CLASS-VI/2023-24
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59. State which has largest flood prone area ?
(A) Assam
(B) Uttar Pradesh
(C) Bihar
West Bengal

60. The normal temperature of human body is—
(A) 90°F -
(B) 98° F
~AC) 96.4°F

(D) 9B 6° F

61. ‘National Dolphin Day’ is celebrated on —
(A) 01 0ct e
(B) 03 Oct
(C) 04 Oct

D) 05 Oct 2k

62. Who is the Cabinet Minister for Commerce &
Industry?
(A) Pralhadloshi
\,(6{ Piyush Goyal
(C) Arjun Munda
(D) Narayan Tatu Rane

63. Who is the Governor of Gujarat?
JAT Acharya Devvrat
(B) Bandaru Dattatreya
(C) B D Mishra-
(D) AM Khan

64. Who is the Governor of Uttar Pradesh?
(A) Ganeshi Lal
\/{fﬂf Anandiben Patel
(C) P N Ravi
(D) Gurmit Singh

65. What is the popular name of Bal Gangadhar
Tilak?
(A) Mahamanya
(B) Desh Bandhu

v(tf Lokmanya

(D) Guruji

(8)

M L
59, e aTg o & S 7 7
(A) 3EH
(B) FALHA
(c) ferem
(D) uferm simrer
60. W TR T ATHT=A AT €T 8
(A)90° F
@) 98°F
(€)96.4° F
(D) 98.6° F

61. U Eifew feaer aﬁmm%—_

(A) 01 FZR
(B) 03 TR
(C) 04 3T
(D) 05 TFER

62. AT 37T I & FFrrE T A 2
(A) 5T St
(B) s e
(C) g e
(D) TR &Z Tor

63. TSI % TSIUTS H1 & 2
(A) = aeq
(B) SigTE AEY
(C) &t <t firemr
D) T EH

64. I I F TSI H4 & 2
(A) O ST
(B) 3THEST wow
(C) Hre
(D) Tt féiw

65. Tt e fivereh it el e a
(A) TR

(B) qr ey
(C) 8=

(D) TSt

SET-B/ CLASS-VI/2023-24



66. Aurobindo Ghosh published which
newspaper/journal?
(A) Kesari
(B) Bengal Gazette
Vande Matram
(D) Yugaptar

67. Birju Maharaj is associated with which dance
form?
(A) Bharatnatayam
(B) Kuchipudi
(C) Kathakali

\/(6; Kathak

68. Where is Science City located?
(A) New Dethi

(D) Chennai

69. Which planet is known as ‘Red Planet’?
(A) Verus:
~AB) Mars )
(C) Mercury :
(D) Neptune

70. Who is the leading producer of Gold?
\)AT China
(B) Australia
(C) South Africa
(D) Rugsia

71. Chaudhary Charan Singh Airport.is in ?
(A) Kanpur
(B) Agra
(C) Prayagraj
) Lucknow

72. Gir Forest is located in -
(A) Rajasthan
(B) Madhya Pradesh

\M Gujarat

(D) Karnataka

(9)

66, AT O I F | GHER GH/S-er ST o 2,
(A) Fal
(G EUSRIERES
(C) & AT

(D) FTieR

67. Foreay wamrr R T et A & 9
(A) AT :

(B) FF
(C) Tkt

(D) FeuF

L
.

68, urea Rt el Rua 2 ?
(A) T3 feeet
® T
(C) Frrahral
(D) 3§
69. T e 3 "I TE H AN A AT R 2
(A) 30
(B) Wt
©) 79
(D) IE9T

!

70. T T 300l IARH R AWML ?
(A) FH '
(B) Jfegferan
(C) ftor Tk
(D) ¥4

71, verdt srvor Rt gad ovger et e 22
(A) FHL
(B) 3TPRT
(C) TRt
(D) TETH

7. fﬂtaﬁfﬂffﬁmﬂ%- g
(A) TSTEIH
(B) 94 oW

(C) T
(D) FAIEH
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73. Capital of Bhutanis ?- '+« +
(A) Tirana
| \jﬁf Thimpu
(C) Dhaka
(D) Bogota

74. Which is the largest Railway Platform?
J4) Gorakhpur e
(B) Mumbai LB
(C) New Delhi 2
(D) Kanpur

75. Navy Day is celebrated on ?
(A) 1S¥an il .
(B) 08 Oct " '

K 04 Dec

(D) 15 Dec

76. Teachers Day s celebrated on ?
(A) 05 Aug
(B) 05 Nov
(C) 05 Oct
0S Sept

77. International Yoga Day is celebrated on ?
(A) 21 May
B 21 June
(C) 21 July
(D) 21 Aug

78. Which of the following bowler -has conceded
most runs in an over’in Test Cricket history?
\MStuart Broad: - i1« C
(B) Robin Peterson
(C) James Anderson
(D) Joe Root

79. Who among the following won the
Wimbledon 2022’s Mens Single title?
\ﬁ Novak Djokovic
(B) Nicholas Kyrgios
(C) Rafael Nadal
(D) Daniil Medvedev

(10)

73.

74.

75.

76.

71.

78.

79.

AR TR R 2 Ry

Preres faw Fa TSI 2 2
(A) 05 7T )
(B) 05 9K

(C) 05 ITFH
(D) 05 fdi=r

T 0T Faw e TR ST & 2
(A) 21 7§

(B) 21 57

(C) 21 &g S,

(D) 21 3T&R

P 3 o e e i e A o
e & waifes @ R 2

AR

(B) Tifem e

(C) I eTEA

(D) &

Fferee 3 & e Rtarere 2022 wow et
faama sftar & 2

(A) TraT® e
(B) Feierw frfifara
(C) TH T

(D) 3T Hgaeg
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80. 44" Chess Olympiad held at —
(A) Mossow -
(B) London
Mamallapuram
(D) Ramie

81. Distance of Marathon race is -
(A) 43.195 km

B 42.195 km

(C) 41.185 km
(D) 40.165 km

82. Which of the following is not related to field
Hockey? i
(A) Bully
(B) Penalty corner
(C) Free hit

B Off side

83. Where is the Headquarters of International
Olympic committee ?

(A) Beijing

- (B) London

\/f() Switzerland o

(D) Germany

84. The Indian Parliament consists of —
(A) Pfesident
(B) Rajya Sabha & Lok Sabha
el President, Rajya Sabha & Lok Sabha
(D) None of the above

85. State Chief Election Commissioner is
appointed by -
AT Govefnor
(B) The President of India
(C) Chief Justice of High Court
(D) Home Minister

86. Tree releases oxygen and absorbs -
(A) Nitrogen
JBT Carbon dioxide
(C) Sulphur dioxide
(D) Nitrogen dioxide

(11)

80. 44t Tt arefraTe wet e frr o
(A) AR 13
(B) ¥

(C) wm'aigm
(D) A"

heminl

8l. e fg A ghe -
(A) 43.195 frft
(B) 42.195 Tersft
(C) 41.185 Tt
(D) 40.165 fereft

82. FrferRaa & & #17 @1 wreg &Rt @ eiftra 7 &2
(A) Feft
(B) ¥t
(C) it fee
(D) 3% T15S

83, i SAreifads wfirf o FEaTerd Fel & ?
(A) ST e ' .

84, W Tae B e & -
(A) Tregafer
(B) T 3 ARaT
(C) Trsgafa, TsareT 3 e
(D) 3 3 & = et

85, TS 35 e T ST o e fovaeh ey < il
®? ' "
(A) TSI |
(B) T % T
(C) =3 AT ¥ & ARTHT
(D) & %lt
86, a7 oo BeY & 3R T ST FA R 2
(A) TGS
(B) FTei STERATHIES
(C) A SRIATHTEE

(D) TS SIEATFITE :
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87. UNICEF headguarter is situated at -~
(A) Geneva
\M New York
(C) Paris
(D) Rome

88. Scurvy disease is caused by ?
(a) Vitamin A
(b) Vitamin B12
(c) Vitamin D

\}cﬁ Vitamin C 3

89. Which is the hardest natural substance on
earth?
Diamond
(B) Lead
(C) Gold
(D) Silver

90. Who founded Maurya Empire?
(A) Chanakya
(B) Samudragupta
(C) Skandagupta
Chandragupta

91. Hornbill Festival is celebrated in -
(A) Manipur
(B) Assam
Nagaland
(D) Sikkim

92. Which team won IPL season 20227
\}k)’ Gujarat Titans
(B) Rajasthan Royals
(C) Mumbai Indians
(D) Delhi Capitals

93. Which one of the following Dams is not in
Uttar Pradesh?
(A) Ahraura
Adwa _
(C) Baghel Khand /
(D) Badua

(12)

87.

88.

89.

90.

91.

92.

93.

s o e FEl R 8 2

(A) frTfim @
(B) Frarfim =it 12
(C) frifm &
(D) farerfim =t

et T Gl A T T BT AR
(A) €T b
(B) ¥ '
(C) T
(D) =it

i

W wTETer i e R 2
(A) ST

(B) 9=Tw

(C) W

(D) SI=7H

BATareT Wil el JT ST & 2
@aufrge

(B) 31§17

(©) Tt

(D) Tt

o e 3 anrdefiee wfts 2022 ram
(A) TSR 2Tgeg

(B) TSR Taed

(C) §ors §fem

(D) Fewtt it wrenfraf

Preferfes & & S st sy F i 2
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94, Largest planet in size is—

\yo’ Earth
(B) Venus
(C) Mars
(D) Mercury

95. C K Naidu Trophy is associated with which

game?
\,(Aﬁricket

(8) Football s S .
(C) Hockey
(D) Basketball

96. Who is known as “Flying Sikh” ?
Milkha Singh O
(B) Harbhajan Singh
(C) Kulvinder Singh
(D) Balwinder Singh

97. National Sports of India =
(A) Cricket
v(ﬁf Hockey
(C) Football
(D) Basketball -

98. Who is the author of “Wings of Fire”?
MDrAPJAbduI Kalam =
(B) Amartya Sen
(C) Abul Kalam Azad-
(D) Amish Tripathi

99, “Eiffel Tower” is located in -
Paris
(B) New York
(C) Tokyo
(D) Moscow

100. Which is the largest country (Area wise) ?

(A) Canada
(B) China

(13)

04, SFERH TR TG IRPTATR?

(A) 7=
(B) TH
(C) "

(D)qH

95, ot 3 ATy Zreh firw G A weifim & 2
(A) firde
(B) Ftet
(C) Erht
(D) SRSt

96. “gerTE Rrer 3 A & R s s g 2
(A) firean féie
(B)mmﬁg.' I - i ! - ny
(C) Fafaw fig
(D) sfaet foe

97, NI 1 T T —
Afrae o v L)
(B) Eh

©FEa.
O) IR

08, “feter 3ifes T T TEFE AR
(A) STt S Seqd FAH J
(B) Imd & .

(C) TS FATH IS
(D) 3refrer Fardt

99, “ufther ETaT" HEl & ?
(A) ¥
(B) =Tk
(C) gt
(D) Tt

100, R wgT 3y (QEHH & HTEW) AR ?

(A) TS N
“B) ¥

(C) qeEq

(D)®H
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MA1HEMATICS

101. One litre of petrol cost Rs 82. How many
litres can one buy if he had Rs 500:
6
(B) 7
(C) 8
(D)9

102. A game of football consists of a total playing
time of 90 mins and a break of 15 mins at half
time. A football match begins at 03:25 PM. At
what time will the match end ?
A7 05:10 PM

(B) 04:15 PM

(C) 04:30 PMm

(D) 04:40 PM

103. The cost of one book is Rs 124. Arun buys 21
such books. How much money does he pay for
the books ? -
JA) Rs 2604
(B) Rs 1450
(C) Rs 2430
(D) Rs 1900

104. A gardener bought 525 pine trees. He wants
to plant 15 trees in each row. How many rows
can he plant ? -
(A) 30
JB1 35
(C) 40
(D) 45

105. The product of qu_nqu;uers is 10800. If one
number is 90, then what isgthe other number ?
(A) 108 |
(B) 320
(C) 910

) 120

(14)

101, U e ¥ i himd 82 AL w%&ﬁa;.m
500 mi?&ﬂﬁﬁmaﬁa&;ﬁ@ﬂzm%?

(A) 6 /

(B) 7

()8

(D)9

102. eater 3 o Bt & et 90 firre 1 Wt w wr @
i s EE 15 e o1 ek ST 21 AT @ Peeie A
2N 03:25 T Y BT & Y 7 A v srot @ 8

(A) T 05:10 T

(B) I 04:15 &1t

(C) T 04:30 &

(D) T 04:40 &1t

103. T fefeTer <t < 124 TR R 3ror Tt 21 foraat
itear 1 7 forarl o6 fore feemm e e
(A) 2604 ¥ Nl
(B) ¥ 1450
(©)F2430
(D) %1900 - b, -

104. T ATt 3 g ¥ 525 Ve @) T8 weoiw Fard 15
U ST SR 21 9% Rraeft Feit e aear 2 0

(A) 30

(B) 35

(C) 40

(D) 45

105. 3 FEATHY T oA 10800 ® | afe wwh s 90 2,
CIEGHES IR £

(A) 108

(B) 320

(C) 910 _
(D) 120 X

if
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106. | am a prime number. If you subtract 1 from
me, | will become divisible by 9, Who am 1? -
(A) 29
19
(C) 17
(D) 11

107. Numeral for Eiéhty crore eighty lakh eightslr
oneis—
(A) 8080081
(B) 8008881
cJ 808000081
(D) 808008081

108. What is the amount whose 25% is Rs 75 ?,
(A) Rs 240
(B) Rs 18.75
(C) Rs 450

JH) Rs 300

109. The nceailes of a clock at 03:10 form =
JAJ An acute angle
(B) An obtuse angle
(C) Aright angle
(D) A reflex angle

110. A polygon isa—
closed shape with any number of st'raight ’
sides.
(B) closed shape with curved lines.
(C) open shape with straight sides. =~
(D) closed shape with both curved and
straight sides.

111. The difference between the predecessor and
the successor of one million iy -
(A) 3
2
(C) 1000000
(D) 1000001

(15)

106. ¥ U 30T HEN § | af o 1 wer €, o A
ferrer & S | i oft e € 2

(A) 29

(B) 19

©) 17

(D) 11

107. & S 3160 «1rd TH T 7 SiH R
(A) 8080081
(B) 8008881
(C) 808000081
(D) 808008081

108. PR T HFT25% € 758 2
(A) %240
(B) ¥18.75
(C) 450

(D) %300

109. 03:10 =1 gt o EaT arTelt @ —
(A) o |
(B) it wivr
(C) Fwahior
- (D) FEwhI

0. A d -
(A) T3 BT =il A st g Tl 1. o
(B) a5 Y@ & it &8 ST |
(C) T YAl & s+ft Geft ATl
(D) Tt 30 T Sl & i Iy |

111, 30 ARG & qaae 3 e e & o & Am R -
(A) 1
(B) 2
(C) 1000000
(D) 1000001

SET-B/CLASS-VI/2023-24



112. One trillion has »~w many.zeros ?
(A) 10
(8) 11
12
(D) 13

113. How many diagonals are there in the
following figure — s

(A) 4
B 5
(€) 2
(D)3

114. The number of lines of symmetry in a picture

of a divider is —
AT 1
(B) 2
(C) 4
(D)0

115. A dealer sold a chair for Rs 90. He bought it
for Rs 95 and spent Rs 20 on its transportation.
What was his loss in this transaction ?
\m Rs 25 &
(B) Rs 15
(C) Rs 10
(D) Rs5

(16)

112. G Rferr & e pr @9 €7
(A) 10 FHE
@) 11/

() 12

v
(D) 13 -

113, e & st F o foremof € -

(A)4
(B)5
D ©2
(D)3

114, 0 fearden 3 for 3 et Y wfifer vt 2
A1

()4 o al
OO,

115, o =TT 3 O Fff 90 ¥99 F <t 1 03 30 95 7
H Tifter 3R gueh aiEe W 20 70 @ v | swaR F
Teperefi &1 8% 2
(A)%25
(B)¥15
©)%10
(D)&5
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116. 21 hundreds, 35 tens'and 4.ones are equal
to-
(A) 2139 -
) 2454
(C) 21354
(D) 21394

117. In which of the following numbers does the
digit 1 have a place value of 10?

(A) Three thousand and one. :

(B) One thousand two hundred and five.

& Five thousand and nineteen.
(D) Seven thousand one hundred and two.

118. Which of these numb~-< is half way between
334 and 364 ?

(A) 344

(B) 354

(C) 350

P 349

119. Anu says my birthday was 30 days ago but |
was away on vacation then. So I'm throwinga -
birthday party the day after tomorrow. If Anu’s
birthday party is on Saturday, her birthday was

on-
v(ﬁfl‘ uesday
(B) Wednesday
(C) Thursday
(D) Friday

120. Which of the following could be written as
six and a half thousand ? '

(A) 6050

(B) 6550

JC) 6500

(D) 6000 3

121. The smallest common multiple of 10 and 5
is— !
(A) 1
(B) 5
el 10

(D) 2

116. 21 &F3T, 35 T6T§ 3R 4 Ford o s &7
(A) 2139 i (s
(B) 2454 '

(C) 21354
(D) 21394

117. Fr=fefaa # & fora dea & 3w | F1eFEaE 10
27

(A) TH TR T

(B) T &R A A 7T

(C) Ui TR I~

(D) 9T TR G | 3

118, 378 & 4 oft G 334 I 364 FAAT AR ?
(A) 344
(B) 354
(C) 350 .
(D) 349

119, a7 et & for & s 30 fo weet o i o
T oft gafere & o A A ol W af o
£t s B Tt wiaR A 2, A SEe S A
q0-

(A) HTER

(B) FUaR

(C) T&aR

(D) AR

120, Frerferfaa & & el o 3 amun g ferar
qRAR? i

(A) 6050

(B) 6550

(C) 6500

(D) 6000

121. 10 30T 5 T TR BT H OTH & —
(A)1
(B)5
(C) 10
(D)2
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122. The product of the place values of 6 in’
438269§_§Ofdivided by 1000 is -

(A) 36

(B) 60

4T 3600

(D) 6000

123. How many times would the digit 2 be
written if you wrote down all the whole numbers
from 1 to 100?

(A) 10

(8) 11

(C) 19

~Jo1 20

124. HCF of 16 & 73 is -
(A) 16
Joi
(C) 73
(D) 1168

125. Which of the following fractinn ic the
largest?
29
(A) <
29
(B)
239
23
29
(D)

126.(33x3)+(3+3)="?
(A) 98
(B) 99

Jer100

(D) 33

127. The largest factor of any number is —
(A) 0 TS 15 |
(B) 1
Number itself
(D) Cannot be determined

122, HEAT 438269160 3 6 2 T WY W UFRA
1000 & fnmTRrm FA W} - -

a6

(B) 60

(C) 3600

(D) 6000

123. Af 379 1 & 100 % i eft qof v = fora 3
37 2 forerft e fora smem 2

(A) 10

®) 11

© 19

(D) 20

124. 16 3T 73 7 7EWW HIIEAS © —
(A) 16
(B) 1
© 73 _ g
(D) 1168

125. Freafafga d d F-ar i ge@ s=r 2 2

. 129

29
8 e

29
@)=

126.(33x3) + (3 +3) =2
(A) 98 "
B) 99
(C) 100
(D) 33

127, Forelt ol e 1 v w91 e A d -
(A)0 b
(B) 1
(C) T weT
(D) Tuifca T femar st aevar 21
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128. The number that is 100 Iess than 10000 s
(A) Nine thousand
\m:ne thousand nine hl;ndred
(C) Ten thousand nine hundred
(D) Nine thousand nine hundred and ninety.

129. 672 is divisible by -
(A) 2&3
(B)3&4
(C)2&6

Jﬁ{ All of these

130. Which among the following are co-prime
numbers?
(A) 9 &21
BT 7 & 17
(C) 14 &35
(D) 12 & 33

131. Write the missing digit so that the number ;
573457 is divisible by 11 ?
o
(B) 1,
(€) 2
(D)3 .

132. Find the value of 2a — 3/(!) c) when
==5b=2,c=1 '
M) —13
(B) =10
(C) 13
(D) 10

133, Subtract 2a — 5b + 4c from—a —2b +
8c¢. -~

(A) a—3b—4c

(B) 2a + 3b —- 2¢

el —3a+3b + 4c

(D) 3a —3b + 4c

(19)

128, loooomoomuﬁaﬁﬂmt_ S et
NE S o A
(B) 7 g At & L)
(C) 7@ T At &Y
(D) A g A it 7= e Oa e

129. 672 fer=a 2 -
(A)23fR3a
(B) 334 @
(C) 2367
O)FEmha. -

130, frerferfaa 3 & - we-nme demt 2 2
(A) 9321 -
(B) 7317
(C) 14 3 3;
(D) 12 3 33

131, 573457 W de T ) Rred 8 11&%341%3

kR
(4)0
(B) 1
(©) 2
(D)3

132. 2a = 3(b — ¢) FAR T HRC AR a = -5,
b=2.c=1
(A) -13

(B) —10
(©)13

(D) 10

133, —a — 2b + 8c#¥2a — 5b + 4cwW|

(A)a—3b—4c
(B) 2a + 3b - 2¢
(C)=3a+3b+4c
@) 3a—3b + 4c
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134. How mahy multiples does 10 have ?.
(A) 1
(B) 2

&
An Infinity

135. What percentage is equivalent to % 4

NLEL
(B) 63%

(C) 52
(D) None of these

136. What should be subtracted from the
greatest 7 digit number to get 65, 43, 210 ?
(A) 12, 34, 567
(B)-99, 99,999
(C) 12, 34, 560
21 34, 56, 789

137. The product of a fractional numbe_lr and its
multiplicative inverse is — -
(A) O
1
(C) Fraction itself
(D) None of these

138.217 +398 + 783 =308 +7=?
(A) 1195
pr1097
(C) 1083
(D) 997

139. 480 books are to be packed into boxes. If
one box has 24 books, how many boxes are
needed ? S

(A) 80

(B) 40

(C) 60

af 20

(20)

134, 10% Fra TR & 2
w1
B) 2
©)3
(D) 3@

135. i;.a:mmgﬁmaﬁm?
) .
) 373
@) 633

2
(©).52
(D) FAAFE T

136. 65, 43, 210 T8 F 3 T 7 3H] F T8 g1 qeeqy
3 & T 2T ST = ?

(A) 12, 34, 567

(B) 99, 99, 999

(©) 12, 34, 560

(D) 34, 56, 789

137. O firrrenss deam 3 3us Ture wives &
TS & —

(A)O

B)1

(C) @& R

(D) 8 & g 7

138.217+ 398 +783-308 + 7 =
(A) 1195 9
(8) 1097 e
(C) 1083 %
(D) 997

139,480 ﬁﬁﬁﬁ%mﬁﬁmﬁmm%mﬁﬁm

ﬁ24ﬁ?tﬂ§'§,?ﬁﬁﬁﬁﬁmiﬁra1ﬁmﬁ1ﬁ?
(A) 80
(B) 40
(C) 60
(D) 20
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140. The greatest common factor of 12 & 24 is —
(A) 6 "
"B 12
(C) 24
(D)1

141. The smallest prime number is -
(A) 1
JBf 2
(€3
(D) 4

142. A train leaves town P at 12:05 PM. At what
time will it reach town Q, if the journey takes 1
hour and 42 minutes ?
(A) 1:37 PM
M) 1:47 PM
(C) 3:37 PM
(D) 3:47 PM

143. The sum of ail angles of a quadrilateral is —
360" )
() 180°
(C) 90°
(D) 120°

144. In AABC, 2A=30°, £B=60°, then the
triangle is-
(A) Acute angled triangle
(B) Isoscelestriangle
\(9), Right angled triangle
(D) Equilateral triangle

145. Which one of the triangle can be
constructed ?

(A) 60°, 50°, 80°

(8) 70°,30°, 60°

(€) 59°, 41°,90°

Jof6s°, 3s°, 80°

(21)

140, 12 3R 24 =1 TEaw auEEdE & -
(A)6
B) 12
(C) 24
D)1

141, G B AT G R -
(A) 1
(B) 2
©)3 .
(D)4

142, T 37 QUL 12:05 T TR P @ Pt 2 1 A A
Q foret ot aght AR e i 1 vy ol 42 Brre e & 2
(A) R 1:37 T -
(B) AR 1:47 5
" (C) Auw3IT IR
(D) AT 3:47 T

143.3@@%@%%@#%%—
(A)360° T
(B) 180°
(©) 90°
(D) 120°

144, AABC 3, ZA=30°, £B=60°, Al P& —
(A) 7 gt
(B) wwfz=g Pg
(C) Tl g
(D) g Fnget

145, Frer 3 & A a1 Pigst ST S Fe ¥
(A) 60°, 50°, 80°
(B) 70°, 30°, 60°
(C) 59°,41°,90°
(D) 65°, 35°, 80°
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146. What is the least common multiple of the
numbers 90, 60, 75 & 35 ?
(A) 2700
6300
(C) 4250
(D) 2750

147. What is the sum of the reciprocals of 7 & ?
(A) =
(B) ;;

64

(C) =
64

7 »

148. If we divide wne sum of 45 & 90 by their
difference, the answer is —
(A) Neither prime nor composntt
(B) The least prime number
\[zr The least odd prime number
(D) The least composite number

149. Anju scored 39 marks out of 60 in Maths
test. What percent is this ?

(A) 75%

(B) 35%

(C) 60%

65%
N

150. HCF of 90, 96 & 10is -
A2
(B) 6
(C) 10
(D)1

151. A square board has a perimeter of 360 cm.
How much is its area ? ’

(A) 90 cm?

(B) 180 cm’

ef 8100 cm?

(D) None of these

(22)

146.90, 60, 75 3T 35 il o TN TAIE

(A) 2700
(B) 6300
(C) 4250
(D) 2750

147.7 3R = %Wﬂmwm?
(A)_
(B)a

64
o=

64
D)5

148. u&ms aﬂwo%u’mﬁ:ﬁ% am&nwia‘fm

'R -
(A)"?‘ﬁ"l’ﬁWﬁ@T ﬂtwa’rﬂaﬁm
 (B) TR O T e
(C) R B Faraw T HeEaT
(D)aa@ra’fa’r#giﬁﬁw

149, ﬂ%nﬁmﬁqﬂmﬁéoﬁéw :ﬂa?wﬁ:qmz
T sftama 8 2

(A) 75%

(B) 35%

©) 60%

(D) 6%, N

150. 90, 9eaﬂtwanrrammqaﬁ$ -
Aa)2
(B) 6
(©) 10
D1

151. @mmﬁémmqaﬁoﬁﬁtnmm
fapaaT g 2

(A) 90 A

(B) 180 A

(C) 8100 A+

(D) ¥ =g 7
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152. 2 metres 35 centimetres is same as -
235m
(B) 2.035 m
(C) 2.0035 m
(D) 0.235 m

153. One
V(AT millimetre
(B) centimetre
(C) metre
(D) decametre

issame as 0.1 cm.

154. Gaurils gracfising to participate in'ar
upcormung mydrathon. She runs 10 km everyday.
What is the total distance she co;ered?ﬁ the
month of January ?

(A) 330 km

~JB1 310 ke
(C) 320 km
(D) 300 km

155. How many sides does a.heptagon.have ?. .
(A) 5
(R) 6
~ef 7

(D) 8

156. From a given point to a given straight line,
how many equal straight lines can be drawn ?
(A) 2
(B) 3
(C) 4
\M mfinite

157. A triangle has sides that measure 5 cm, 12
cm & 13 cm. Identify type of triangle ?
(A) Equilateral triangle
(B) Isosceles triangle
(C) Obtuse angled triangle
Right angled triangle

(23)

152. 2 Wizt 35 HAHT TR & -
(A) 2.35 "X
(B) 2.035 HX
(C) 2.0035 HiIX
(D) 0.235 HIX

153, ©%
(A) Freffiex
(B) #éiHrex
(C) #i=
(D) ST

0.1 Tt & s A 2 |

154, Tivdt ayrret Brrert 3 v S 3 R v AT )
g 1 10 Feft Srgeht & st 3 el & 3 oot vt
mdr |

(A) 330 foredt

(B) 310 fFft

(C) 320 Tt

D) 300 ot

155. Wﬁﬁﬁ'—ﬁ'ﬂﬁﬁﬁ?ﬁ%?
(A) 5"
(B) 6
©7
(D)8

156 ford e forg @ < 1§ e e e et s e
YT @I TS 71 Tt & 2 -
(A)2
(B)3
©4
(D) 34

157. & Frger ot e 5 of, 12 3 30 13 6l ¥ g
3 TR Y TE=H ?
(A) T Frgst

(B) wwfieg g
(C) Srftrrntor st

(D) Twahtor Pyt
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158. A dozen has 12 units. Howmany dozens are -
there in 7044 units ?
£g7
(B) 857
(C) 590
(D) 586

159. Supplement of three-fifths of a right angle
is—
(A) 26°
\JBT 36°
(C) 126°
(D) 154°

160. If 8 men can do a piece of work in 15 days,
then in how many days could 20 men do the
same work ?
(A) 4
(B) 5
6
(D) 8

161. Which among the following are twin primes?-
(A) 31 & 37
() 78 11
11 &13
(D)3&7

162. tens make a crore.
(A) 100000
(B) 10000000
(C) 1000

J&7 1000000

163. The equivalent decimal fraction for 8.0411

is—
(A) 8.04101
(B) 8.00411

K 8.04110

(D) 8.4110

(24)

158, 7 T 12 Y B 11 7044 ST 3 fa
T E?

(A) 587

(B) 857

(C) 590

(D) 586

1159, GEERIOT o i T i BT I & —
(A) 26°
(B) 36°
(C) 126°
(D) 154°

160. af% 8 3Tt e e Y 15 e o Rl 1 20
el e e Y ey e 8 2 ‘

@4

(B) 5

©6

(D)8

161. Fraforiaa % & # & Jeat snsy gemd 8 2
(A) 31 337
(B) 73 11
(©) 113K 13
(D)3 3R 7

162 wedwwdesmd)
(A) 100000
(B) 10000000

" (C) 1000

(D) 1000000

163. 8.0411  forq wwged aemre T -
(A) 8.04101
(B) 8.00411
(C) 8.04110
(D) 8.4110
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164. In which of the following the numbers are
arranged in ascending order ?
(A) 57071, 50371, 53071, 57301
JBT 50371, 53071, 57071, 57301
(C) 57301, 53071, 57071, 50371
(D) 50371, 53071, 57301, 57071

165. The predecessor of 1 crore is —
JAT99,99,999
(8) 10,01,000
(C) 9,95,9%9
(D) 99,99,99,999

166. To get a quotient of 700 & a remainder 48,
what number should be divided by 100 2
(A) 748 '
& 70,048
(C) 70,000
(D) 7,048

167. The parts of an angle are &
(A) Rays & Lines
(B) Arms & Sides
(C) Protractor & Ruler
\,(Df Arms & Vertex

168. The distance around a circle is called —
JAT Circumference
(B) Perimeter
(C) Diameter
(D) Radius

169. A line segment
(A) has only one end point.
(B) extends endlessly in only one direction.
(C) has no definite tength.

fo) has definite length.

(25)

164. Prfafas dearen & 4 S ur o s AR 7
(A) 57071, 50371, 53071, 57301
(B) 50371, 53071, 57071, 57301
(C) 57301, 53071, 57071, 50371
(D) 50371, 53071, 57301, 57071

165. 1 g 1 [ § -
(A) 99,99,999
(B) 10,01,000
(C) 9,99.999
(D) 99,99,99,999

166. ST 700 3 ATH 48 TTH FC 3 g, Reel e

1 100 9 e e g 2
(A) 748
(B) 70,048
(C) 70,000
(D) 7,048

167. 0T & 9T 3R (4

(A) fortor 3R ar

(B) 3R 3R AT

(C) ater AT g !

(D) 3=t 3 gfd

168. ¥ % =IRT A 0 FE 8 -
(A) afdfr
(B) 9fwTY
(C) =™
(D) frsr

169. T W@rEs bag
(A) &1 et T 3ifem faig g1
(B) w& € e & sivd wect @ |
(C) & =§ Pafdra wtard T et 1
(D) Y fafira wi=d welt 21
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170. Of the following cases, construction of 170, P faemedt _ﬁﬁﬁmﬁﬂﬁiﬁ'fﬁ? e

triangle is not possible 7. &2
(A) 7 em, 7 cm, 13 ¢m (A) 73, 73, 13 30ft
10 cm, 10 cm, 20 cm (B) 103t 10 it 20 Aeft
(C) 5em, 12em, 14 cm (C) 5@t 12 4t 14 Tt

(D)3em, 6cm, 7em

(D) 3 &t 6 Aeft, 7 &t

171. The fraction in lowest term for 40% i< — 171. 40% 1 gl BYeT =T & - &5
3 3 1
(A)s W3 |
4 ' &
(€2 1 -
\J‘{’ 2 ©3
5 2
D3z
172. 25% of 30 kg is - 172. 30 fFuT 1 25% 8 -
(8) 8.5ke - @ ssfan
(C) 6.5ke (C) 6.5 frmm
‘ﬁ{) 75ke (D) 7.5 T
173. 3 T 1.
173. A dozen eggs were bought for Rs 18 ‘and r ﬁ; Rl HEI"S W:i?aﬁ%w ¥ 1807 H
sold at Rs 1.80 each. Find profit or loss ? b Ll L
fo Profit Rs 3.60 e ({ (A) T 3.60 771
(B) Loss Rs 3.60 (B) &1 3.60 T
(C) Profit Rs 9.80 Vi ©) T 9.80 L0
(D) Loss Rs 9.80 . (D) T 9.80 7 -
. 174, T 1 A0 & wferera =Y Tomy ger i
174, Percentage of loss or profit is always g ' 2
calculatec; on- . (A) ﬁﬂqﬁ
% e
(C) 0.ve;rhead charges ‘ © mﬂﬁ
(D) None of these (D) T A g
175. The smallest pompﬁslte number is — 175, T B T T & - \
(A)1 ; . (A) 1
(B) 2 (B)2
(€3 ©3
pr 4 (D) 4
(26) SET-B/CLASS-VI/2023-24
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INTELLIGENCE

Directions : Select t
176. 24,35,51, 7h3e :g;s‘: K Blmbey Setanit
139
(B) 152
(C) 11
(D) 149

177. 0,2,?,12,20,30
) 4
T 6
ds
(D) 10

178. 0,6,2,20,20,42
(A 4
(B) 6
(C). 8
12

179. 5,9,17,29,45,?
(A) 60
(B) 70
e 65

(D) 75

180. W,A,E,I,M,?
(A) P
JEra
(C) R
(D)7

181. Y,W,T.P,?
. SMPK
(B) L
() 1
(D) J

182. If GOLD is expressed as HOME and SONS is
expressed as TOOT, then CORD be expressed as
(A) TONT ' :
(B) TOOS

Jef DOSE

(D) TUPT

183.  If in a certain language, MADRAS is coded as
NBESBT, then how is BOMBAY be coded ?
(A) CPNCBX
CPNCBZ
(C) cpoCBZ
(D) cQOCBZ

(27)

A : W dEAT/ AR HT TAHRI|
176.  24,35,51,73,102,2 o
(A) 139
(B) 151
(c) 131
(D) 149

177. 0,2,7,12,20,30
(A) 4
(B) 6
(c) 8
(D) 10

178. 0,6,?,20,20,42
(A) 4 ‘
(B) 6
() 8
(D) 12

179. 5,9,17,29,45,?
(A) 60
(8) 70
(C) 65
(D) 75

180. W,A,E,I,M,?
(A) P
(8) Q
©R
0T

181. Y,W,T,P,?
(A) K
(B) L
(*)
(D) J

182, aR GOLDFt HOME 3R SONS # TOOT ¥
w9 i =5 far s &, A CORD ) fra s 4w

foran smom
(A) TONT (B) TOOS
(C) DOSE (D) TUPT

183.  afe freht fifdra smar , MADRAS % NBESBT
% w0 A e e sar €, & BOMBAY &t &%
e foram s 2

(A) CPNCBX

(B) CPNCBZ
(C) CPOCBZ

(D) CQOCBZ
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Directions : Find out how will the key figure (X) look
like after rotation.’

IR :OC: 2

184, (x) M tay
(A) 1
(B) 2

()
M

QOB

185. (x) ; (1 (2) (3) (4)
(A) 1
(B) 2
(C) 3
4

Directions : Select a suitable figure from the Answer
Figures that would replace the question mark (?).

186. Problem Figures: - Answer Figures:

YIA| ™2 (2]
(A) (B) (C) (D) (1 2 ) @
Ng!
(B) 2
(C) 3
(D) 4

187. Problem Figures: Answer Figures:
Vial 2 D DL,
(A) (B) (C) (D) (1 (2 B) 4
(A) 1
(B) 2

NE

(D) 4

Directions : Find out the alternative figure which
contains figure (X) as Its part. .

> B R
RY | N/
IS AN

(X) Mm @ @ @

JA1

(8) 2
() 3
(D) 4

188.

(28)

ﬁ{m qmaﬁﬁsguﬁ%imﬁﬁh st (X) et
franfn

184. x) o) (2 @) -
(A) 1
(B) 2
(C) 3
(D) 4

3 BB

185. (0 m @ @ @
(A) 1
(B) 2
(€) 3
(D) 4

9 : IO N & 30 I SATHI BT T
<t weraree fug (2) SRt |

186. - e fr: I fom:

VIA™S 2] s

(A) (B) (C) (D) 1 @ 3@

(A)1
&y (B) 2' 4 ‘l"‘
50 (o)1 P
(D) 4

187. wE fom: IW fom:

W.... L ] L] L] L ]
YialLl?l PPk
A ® © ®
LoD Do 0
(B) 2
(C) 3

(D) 4

ﬁaTaa&ﬁ*mnmwﬁamﬁmﬁqﬁmﬁmmd%
(X) AT H ETA Y |

NN
188.

(X) (1) 2 3

s @ @ @
(8) 2

() 3

(D) 4
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189.

(X)

(A) 1
(B) 2
(C) 3

\AD) 4

P B

(1 (2

2

XY

190.

M @ (3 ta) 1

| 9| ¢

o-|-¢ —o——?—

1)y @ 3 ()

191.

1) @ 3 @'

192.
(A) 1

BT 2

(€) 3

(D) 4

It

193.

R

A A L

(1) (2) ) &)

(29)

189,

190.

191,

192.

193,

H’

x) -

(A) 1
(B) 2
(C) 3
(D) 4

H(1)

A
R+
X

(A) 1

(B) 2

(C) 3
(D) 4

EEE

@ @ @

AHXIX

(1) (2) @ @

é

)

-&-
?| e
-

<o ¢

é-|-6 |-o- (-9

1) @ (3 (1)

(A) 1
(B) 2
() 3
(D) 4

(A) 1
(B) 2
(€) 3
(D) 4

it

I

(1) @ (3 ()

12

P =

X

(A) 1
(B) 2
€ 3
(D) 4

(1) () (3) (¥
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194,
Cis the father of 0. How D is related to A ?
(A) Brother
(B) Sister

\er Nephew

(D) Cannot be determined

195.
of the son of the wife of my husband”. How Is
Veena related to Kavi ?

(A) Aunt
(B) Sister

M2 Mother

(D) Daughter

196.  Aand B are brothers. E is the daughter of F; F
is the wife of B. What is the relation of Eto A ?
(A) Niece
Sister in law
(C) Sister
(D) Daughter

197.  Pis the mother of K ; K is the sister of D ; D is
the father of ). How P is related to J ?
(A) Mother
Grandmiother
(C) Aunt
(D) Not Known

198. Arun said, “This girl is the wife of the
grandson of my mother”. How is Arun related to
the girl ?

(A) Brother

(B) Grandfather
Father in law

(D) Husband

Directions : Select the related word.
199. Depression : Mood :: Insomnia : ?
(A) Draams
(B) Night
(C) Thinking

~JpT Sleep

Book : Publisher :: Film : ?
Producer

(B) Director

(C) Writer

(D) Editor

200.

If A is the brother of B; B Is the sister of C; and

Introducing Kavi, Veena sald, “She Is the sister

(30)

194; atﬁ:a,-n'aamrft;n.cﬂw%;@htc,nm
frar &) D,A%&ﬂﬁa‘ﬁmt?
(A) ¥T§
(B) T&H

mﬁm, "E‘Eﬂ‘(ﬁﬂ

195, o a1 afeera Fd §L & e yET EeRE &

et 3 42 oy & AT FR
(A) =Tl

(B) &

©)df

(D) &

196, AsRBWEHE FRTHF, B# UM 3 E
FATGFTEIT R ?
(A) wefisft
(B) ¥nft
(C) &
(D) &

197. P, K#Iuid; K, DR TeA; D, JFR@rip, J
AFA TR ?
(A) =t
(B) qT&T
(C) =m=ht
(D) ITa &

3TV 3 e, "IE TSh! 3 A1 3 9r Y ot 2
I A W R e Hefta & 2

(A) WTg

(B) BreT

(C) T
(D) f

3w : weifor yrog @ waw @t

199.  Depression ; Mood :: Insomnia : ?
(A) Dreams
(B) Night
(C) Thinking
(D) Sleep

198.

Book : Publisher :: Film : ?
(A) Producer

(B) Director

(C) Writer

(D) Editor

200.
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